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Addition  and Subtraction
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image7.png
Emily has made the number:

(1)

Write down the number that is 10
less than 305.

Now write down the number that is
10 less than this new number.

Explain what is happening to the
number each time.

What is the 10™ answer in this
pattern?

536-10=526
526-10=516
516-10=506

How do you know?

True or False

When | add 100 to any number, | only
need to change the hundreds digit.
Show me an example.
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Alice says ‘The number in the place
value grid is the largest number you
can make with 8 counters.’

Do you agree?

Prove your answer.

100s [ 10s 1s

2.. [
e
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Match the number in words to the
number in numerals. Fil in the missing
numbers.

Four hundred 4
and sixty two

Four hundred 7
and twenty six

Six hundred 4
and forty two

Two hundred 3
and sixty four
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Are these number sentences true or
false?

396+6=412

504-70=444

556 +150 =706

Justify your answers.
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Hannah has baked 45 cakes for a bun
sale. She sells 18 cakes. How many
does she have left? Check your
answer by using an addition.
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Work out the missing numbers

7=+

O +100=450-75
200-101>50+(J




image13.png
These items are sold in a shop.

B =0

Ray buys three items.
Two of them are the same item.
He spends £23

What items does Ray buy?

How do you know?
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What pair of numbers could be
written in the boxes?

OO0 -2

True or false?
Put these statements into two piles.
Explain why.

3x4=0+12
5x8>6x8
28:4=2x4
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Which of the problems below can be
solved using 8+ 2?

~There are 2 bags of sweets with 8
sweets in each. How many
altogether?

-A rollercoaster carriage holds 2
people, how many carriages are
needed for 8 people?

-1 have 8 crayons and share them out
50 people have 2 crayons each. How
many people did | share them
between?

-I'have 8 buns and | give two to my
brother. How many do | have left?
Explain your reasoning for each.
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*  Atthe fair, how many buckets did each
person knock down?

W W
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Use the array to fill the number
sentences below:
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Year 3 Arithmetic Test 5 testbase
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2x7=24
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s26+38=
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Circle the odd one out.
100, 150, 200, 215, 300
Explain how you know.

True or False.
If 1 count in 100s from 0, all the
numbers will be even. Convince me.

Always, sometimes, never

All multiples of 50 are multiples of
100 therefore all multiples of 100 are
multiples of 50.




